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REAL NUMBERS

Multiple Choice Questions Level |

1. Each prime number has:



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BW5ciYw8oW4t

A. no factor

B. only one factor

C. only two factors

D. more than two factors.

Answer: C

o Watch Video Solution

2. A rational number in its lowest terms can be

expressed as a non-terminating recurring


https://dl.doubtnut.com/l/_BW5ciYw8oW4t
https://dl.doubtnut.com/l/_0B0UGFsSlsF1

decimal iff the denominator has no prime

factor other than:

A2

B.5

C.2and 5

D.2 and 3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0B0UGFsSlsF1

3. Arational number in its lowest terms can be
expressed as a terminating recurring decimal
iff the denominator has no prime factor other
than :

A 2

B.5

C.2and5

D.2and 3

Answer: D

‘ o Wiak hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_H2oVQDfifPef
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4. Irrational numbers are:

A. irrational decimals

B. non-terminating, recurring decimals

C. non-terminating , non-recurring

decimals

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_H2oVQDfifPef
https://dl.doubtnut.com/l/_2UqPrN2KVU7k

5.mand e are:

A. natural numbers

B. integers

C. rational numbers

D. irrational numbers.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2UqPrN2KVU7k
https://dl.doubtnut.com/l/_3EJi3XR5rgHj
https://dl.doubtnut.com/l/_A0LoVIEyD0JE

6. The arithmetical fraction that exceeds its

square by the greatest quantity is :

1
A.Z
1
B.E
3
C.Z

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_A0LoVIEyD0JE

7.1f2 < xz < 3,then:

Az — 3 < |z —2
B.(z — 3) > (z — 2)

C.(x—3)(x—2) <0

r — 2

D. >0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KW5ryZzfisTq

8.1f 5 < x < §,then:

A (x—5)(z—8)>0
B.(x — 5)(x — 8) >0
C.(zx —5)(x —8) <0

D.(x —5)(z — 8) <0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VqKmzp5hlUPK

9.1f (x — 1)(z — 5) > 0, then the solution set

IS :

D.x < lorx > 5.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aX54XFivzuke
https://dl.doubtnut.com/l/_6c3PBBtF5pUk

e —5r+6
10. If is positive, then :
x2 —xz+1

Ax <2

B.2<xz <3

Cx >3

D.x < 2o0r x > 3.

Answer: D

o Watch Video Solution

1. The number log, 7 is :


https://dl.doubtnut.com/l/_6c3PBBtF5pUk
https://dl.doubtnut.com/l/_eKi1LojTxsu8

A. an integer

B. a rational number

C. an irrational number

D. a prime number

Answer: C

o Watch Video Solution

12. If x = 2.352, then x equals:

A 2352
© 999


https://dl.doubtnut.com/l/_eKi1LojTxsu8
https://dl.doubtnut.com/l/_SVAJxF4Gt0Pz

8 2329
999

c 2352
990

5 2329
990

Answer: D

o View Text Solution

13.If x, y are two real numbers such that xy = 5,

then :

A x=1y=5


https://dl.doubtnut.com/l/_SVAJxF4Gt0Pz
https://dl.doubtnut.com/l/_nQBp4NE556gB

B. x,y are both rational

C.x rational, y irrational

D.x, y are either both rational or both

irrational .

Answer: D

o Watch Video Solution

14. The number of real

z|* — T|z| +12 = 0is :

roots

of


https://dl.doubtnut.com/l/_nQBp4NE556gB
https://dl.doubtnut.com/l/_Yl3xMpnuGYsH

A.one

B. two

C.three

D. four

Answer: D

° Watch Video Solution

15. The number of integral pairs (x, y)
satisfying the equation 2z% — 3zy — 2y* = 7

IS :


https://dl.doubtnut.com/l/_Yl3xMpnuGYsH
https://dl.doubtnut.com/l/_ecsnvzSBpEEk

Al

B.2

C.3

D. 4

Answer: B

° Watch Video Solution

16.1f z, y € R, then:

Alz +yl < lz| + |y


https://dl.doubtnut.com/l/_ecsnvzSBpEEk
https://dl.doubtnut.com/l/_N63ATPkHeMqg

B. |z +y| > |z| + |y|
Clz+yl = |z| — |y

D.|z +y| < |z] — |y

Answer: A

o Watch Video Solution

17.1fa,b,c € Randa > b = ac < bc, then:


https://dl.doubtnut.com/l/_N63ATPkHeMqg
https://dl.doubtnut.com/l/_8HP6omknT99Q

C.c>0

D.c < 0.

Answer: D

° Watch Video Solution

18. If x and 'y are reals, then

1 :
5(:1: + y + |z — y|) = z holds iff.

Ax >y

B.x <y


https://dl.doubtnut.com/l/_8HP6omknT99Q
https://dl.doubtnut.com/l/_DKLVUeINW13f

Answer: D

° Watch Video Solution

19. The solution set of |5z — 3| = — 1is:

A. {0}


https://dl.doubtnut.com/l/_DKLVUeINW13f
https://dl.doubtnut.com/l/_IbJDbcBb2kw1

D. None of these

Answer: B

o Watch Video Solution

20. The equation |z 4 4| = « has solution :

Ar= —2
B.x = 2
Cx= —4

D. None of these


https://dl.doubtnut.com/l/_IbJDbcBb2kw1
https://dl.doubtnut.com/l/_U0w9nHpEJclg

Answer: A

o View Text Solution

21. The solution of > 0is:

2r — 5

Answer: B


https://dl.doubtnut.com/l/_U0w9nHpEJclg
https://dl.doubtnut.com/l/_4mq0XOkilupi

° Watch Video Solution

22.The solutionof 6 + = — 22 > Ois :

A-2<x< —1

B.—2<x <3

C—-1l<zxz<?2

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4mq0XOkilupi
https://dl.doubtnut.com/l/_E3HpGeAzTYhN

23.If |z + 5| < 3,then:

A—-8<xr< —2
B.2<x <&
C-2<zxz<?2

D. -8 < x <8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_E3HpGeAzTYhN
https://dl.doubtnut.com/l/_DxzrsMXxOytt

24.1f a, b € N such that a®> — b* is prime, then
the correct relationship is :

Aa® —b =0

B.a’ —b*=a—b

Ca’?—b =a+b

D.a’> — b = 1.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lA98Qxzoe1Kp
https://dl.doubtnut.com/l/_4oOddLQEqPKq

25. The set of values of x for which the
inequality
e —1] + ]z +1] <4
always holds trueis :
A. (-2, 2)
B.(— o0, —2) U (2,00)
C.(— o0, —1] UL, 00)

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4oOddLQEqPKq

Multiple Choice Questions Level i

LIf z =|a+ B,y =|a|+ |6,z =|a -8,
then :

A. x = Max. (y, z)

B.y = Max. (x, z)

C.z = Max. (x,y)

D.y = Min. (x, z)

Answer: B


https://dl.doubtnut.com/l/_4oOddLQEqPKq
https://dl.doubtnut.com/l/_VRnR9YeRrYQN

° View Text Solution

2.1f p, g, r are real numbers then:

A.max. (p,q) < max.(p,q,r)

1

B.min. (p, q) = E(p—l— q—|p—4q|)

C. min. (p,q) =min. (p,q,r)

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VRnR9YeRrYQN
https://dl.doubtnut.com/l/_EvAsfCduTOit

3. The integral value of real x for which :
5z —1) < (z +1)* < (7T — 3) is:
A1l
B.2
C.3

D. 4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EvAsfCduTOit
https://dl.doubtnut.com/l/_P8tb1tFJyEv5
https://dl.doubtnut.com/l/_Wy3vephlqRQo

4. If x and y are rational numbers such that
/Ty is irrational, then \/z + | /yis :

A. rational

B. irrational

C. non-real

D. None of these.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Wy3vephlqRQo
https://dl.doubtnut.com/l/_nmbOoXdNklpR

5. If x and y are real numbers such that
r >y and |z| > |y|,then:

Az <0

B.z >0

Cy>0

D.y <0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nmbOoXdNklpR

6. If log5(6—|— %) +logy 5 (1+0) <1,
then x lies in :

A (00,1~ y5) U (1+ 5, )

B. (1,1 + /5)

C.(1—+/5,1+/5)

D. (1 - +/5,1)

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_befl7IkZLPXf
https://dl.doubtnut.com/l/_ptGCGX6PrLut

7. If |2z +5| < x + 3, then x lies in the

interval :
al-2 _E]
3’ 2
S Y
3, A
c|-2, 2
| 2, A
o |3 §]
1273
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ptGCGX6PrLut

8. If a, b, c are distinct positive real numbers
and a® + b° + ¢ = 1,then ab + bc + ca is :
A. less than 1
B. equal to 1
C. greater than 1

D. any real number.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rik5zXxBwOUG

